#£7.1 FHEICHVEANZXA—=%2, AlZSi | BIZAlZERKL T3,
D.(cm?/s) 3.0x107°
Dg(cm?/s) 1.0x 1078

Vm(em®) 10
La(J/cm®) 3000
T (K) 1675.4
B (cm/(Ks)) 0.39
oA(J/cm?) 8.67 x 107>
Lg(J/cm?) 4000
TS (K) 666.79
BB (¢cm/(Ks)) 0.70
oB(J/cm?) 1.9 x 107°
Ax(cm) 4.6 x 1077
Ay(cm) Ax =4.6x1077
Satem) A 49x107
0.94
Sslem) A 49x 1077
0.94
At(s) Ax?
.= 141 x 107°
y 0.04
k 4
0




RT7.2 PR, IRKIEA & EERIKHZA

A(pm) 2.35 4.7 9.4 18.8

A(um) 0.84 0.84 0.84 0.84
1.26 1.26 1.26 1.26
1.68 1.68 1.68 1.68
2.1 2.1 2.1 2.1
2.52 2.52 2.52 2.52
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7.8 Si-Al ZJCRIREER, JRILIE Al IBREDSE Z & 7 WIFDIREE, HALIZ Al IBAEE &
7-HREDIRAER TR T,



